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BEANKE T $FARTRTER(BIHE RWTE
I\, HTE\@F‘}‘&E]%FF%%*@ %\\Z gH-{t‘q* 4. singer, Inc., sells product R for $5 per unit

The fixed costs are $210,000 and the variable

$?PPE‘ ZJ’Z’PPE‘ ’?-é‘i‘ costs are 60% of the selling price. what

) would be the amount of sales if Singer is to
%PFE\X &K% #lﬂ,ﬁﬂ'\‘) 3331!’6‘6\) #lS’b,m realize a profit of 10% of sales?

RiNK @&5\3‘:‘ Cow)  (fom) (o,00) a. $420,000 b. $525,000
%PP%%‘(R&&N&E (go,m) (\Sow) (45:"“‘) c. $472,500 d. $700,000

( kl’\Nt r'({‘('i-ﬁw 5. On January 1, 1981, Studley Co., purchased
&15"’»‘}'&) a new machine for $100,000 with an estimated
h < useful life of five years and no salvage
%PF%?%%“ # 20,000 @S’UU»> 3“‘,"""’ value. For book and tax purposes, the machiné
will be depreciated using the straight-line
AT 4 B [§ q_ 2 \ Y method and it is expected to produce annual
H 45\(’5\\&1 & % # Z’ DFPEI ﬁo‘jﬁﬁi cash flow from operations, before income
., 55 A I \ taxes, of $40,000. Assume that Studley uses
?i\id—'s'a% ?:t HL ° Kb?ﬁf/‘ ’i a time-adjusted rate of 12% and that its
= income tax rate will be 40% for all years.
= 2
bkgﬂ —g da" (ﬁ) The present value of $1 at 12% for five periods

is 0.57, and the present value of an ordinary
7"( &33&%(%%94‘—%4%4% ,%ﬁ‘&ﬁ 4 annuity’of $1 at 12% for five periods is 3.61
' 1[0 ~-5 I*&&%zwljo§-|$£§§$&é The net present value of the machine should

1. Georgia, Inc., has an authorized capital of be . :
1,000 shares of $100 par, 8% cumulative a. $15,520 pOS:!.tive. b. $15,520 negatn..ve.
preferred stock and 100,000 shares of $10 par . $14,000 positive. 4. $13,680 negative.
common stock. The equity account balances at
Dec. 31, 1981, are as follows:

6. In 1978, Cromwell Co., bought 30,000 shares

Cumulative preferred stock $50,000 of Fleming Corporation's listed stock for
Common stock 90,000 $300,000. This stock was not accounted for
Additional paid-in capital 9,000 by the equity method.. In 1981, when the
Retained earnings 13,000 market value had ?ecllned Fo'$209,000,
Treasury stock, common cost @$100 (2,000) Cromwell changed its classification of this
$i€37666_ investment from current to noncurrent. In

January 1982, before Cromwell's 1981 year-end
statements were issued, the market value of
the Fleming stock had risen to $230,000. How
much should Cromwell record as a realized
loss in its determination of net income

Dividends on preferred stock are in arrears
for the year 1981. The book value of a share
of common stock, at Dec. 31, 1981, should be
a. $11.78 b. $11.91 c. $12.22 4. $12.36

for 19812

2. At Dec. 31, 1980, Welsch, Inc., had 500,000 a.$0 b.$30,000 c.$70,000 a.$100,000

shares of common stock outstanding. On
October 1, 1981, an additional 120,000 shares -
of common stock were issued for cash. Welsch -1-— %ﬂ_%}gk}_ﬁ HoRNﬁ-REA‘ %xjﬂa (I;

also had $4,000,000 of 8% convertible bonds ¢ - e r L”
outstanding at Dec. 31, 1981, which are “ACCouMT; 'S:DR HANAGE~EA] o (R

convertible into 100,000 shares of common

stock. The bonds were considered common stock %“3 iﬁ,& @%T/\% ﬂ%ii \‘g—ﬁﬁéﬁ é ﬁk\
7‘~ =

equivalents at the time of issuance and are -
dilutive in the 1981 earnings per share /A=-

computation. No bonds were issued or converte ( ée@k % ( S COR€CAR))
into common stock during 1981. What is the -0 e = y 1RecTins >
number of shares that should be used in 2. S“( §§-§1§, CATTG”T; onl DiRecls T
computing primary earnings per share for the s5 570 . >
year ended Dec. 31, 19817 3 ﬁﬁ-vk‘ﬁ&i C PRoBLeM' g"(‘v'”‘%
.53 . . . > 3 . T by ST R R
a.530,000 b.600,000 ¢.630,000 d.720,000 :ﬁ'&ﬂk’ii") "é"ﬂﬁ Eﬂ%{/ﬁ,{ﬁt‘
[
3. Wagner Co., sells product A at a selling price K 'l s
of $21 per unit. Wagner's cost per unit based A: 3 R (. S‘S)

on the full capacity of 200,000 units is
as follows:
Direct materials $
Direct labor
Overhead (two-thirds of which is fixed)

S

o o

<
(%))

1
A special order offering to buy 20,000 units
was received from a foreign distributor. The
only selling costs that would be incurred on
this order would be $3 per unit for shipping.
Wagner has sufficient existing capacity to
manufacture the additional units. 1In
negotiating a price for the special order, 211
Wagner should consider that the minimum selling
price per unit should be, . )

a. $14 b, Q. .

. $14 b. 515 0. $16 d. s18 T ENEEE S

e e —




